1-Reading:    

[image: image4.png]RAUL GONZALEZ

He is 25 years old
He is 1.8 metres tall

He weighs 68 kilos

He plays for Real Madrid
He has won the Champions
League three times




[image: image1.png]DAVID BECKHAM

He is 27 years old
He is 1.8 metres tall

He weighs 74 kilos

He plays for Manchester United
He has won the Champions
League once





2-Guess the adjective:

[image: image2.png]dulda
haro

la:do

hepro
bigs

older
larger
bigger
higher

happier




3- Complete the sentences

[image: image3.png]1. Beckham is older than Rail (young)

Raill is

2. Rail s thinner than Beckham (fat)

Beckham is

3. Raiil has scored more goals than Beckham (few)

Beckham has scored

4. Beckham is more handsome than Rail (ugly)

Raill is

5. Raill is a_better player than Beckham (bad)

Beckham is




